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Review Chapter 1...
Quiz is on Tuesday

1.1: Terms - conjecture, inductive reasoning
- develop a conjecture
- evaluate a conjecture
1.2: - testing a conjecture (valid vs invalid)
- through measurement
1.3: Term - counterexample
- find a counterexample
- evaluate a counterexample
1.4. Terms - deductive reasoning
- algebra to prove the conjecture
- evaluate a proof
1.5: Terms: premise, generalization, circular reasoning
- find errors
- correct errors
- 'common errors'... 1) false assumptions
2) dividing by zero
3) calculation errors
4) logical errors
1.6: - solve a problem using logic
- strategies: pictures, charts, algebra, etc..
- using patterns/examples
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Foundations of Math 11 Quiz - Chp. 1 Logical Reasoning

Mr. Hallihan
Posted: April 12,2018

Date:
Tue, Apr 17/18 9:40 am

Check out the following for practice questions...
Mid Chp. Practice p. 35 #2, 3, 5, 6, 8,9, 10, 11
End Chp. Practice p. 61 All except section 1.?

Self Test p. 58 #1,2,4, 3,6 Review Chp. 1 - Workbook Questions.pdf
Frequently Asked Questions p. 59 X,

Review Worksheet Sorutions...
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a) 768 b) 500 o) 224
0. 91 b5 96 d2
11, a) disagree; eg,5+15=20 b) disagree; e.g., 10 + 15 = 25
12. g, If x represents any whole number, then the left side of the equation
consists of any seven consecutive numbers. The sum of these numbers
is equal to seven times the number plus 21. Each term of the right side,
7x + 21, is divisible by 7. This equation proves that the sum of any
seven consecutive numbers is divisible by 7. Example: 6 +7 + 8 + 9 +
10+ 11 + 12 =63,and 63 + 7 = 9.
13. e.g., disagree; Television shows are not always realistic. At the scene of a
real-life crime, there might not be enough evidence to prove a person’s

g eB
BB

guilt.

14. e.g., Kangaroos have pouches; deductive reasoning

15. it Each term is 9 more than the previous term, so the next two terms
are 50 and 59%; inductive reasoning
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NEED HELP?
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Q: What does inductive reasoning involve? s ventl

A: © Inductive reasoning starts with specific

i cad
Identifying and observing may lea
a P ———————

This can then be stated

to a general

asa B

NEED HELP?
o See Lessons 1.1, 1.2
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Q: What role does evidence play in supporting conjecturcs:
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NEED HELP?
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Q: Whatisa counterexample, and how does it relate to a conj e

jecture. This
A: * A counterexample is an example that a conj

Conjecture:
All prime num

means that the conjecture is 3

be certain a
ou
« If you cannot find 2 counterexample, y

counterexample does not exist.
j t be .
« Ifyou do find 2 counterexample, the conjecture mus

he conjecture.
However, you may be able to H j

NEED HELP?

g v
Q: Whar does deductive reasoning involve? S

be true.
A: * Deductive reasoning starts with general known to

. reasoning then leads to specific g
A of a conjecture must involve cases.
A
NEED HELP?
Q: What are some common €rrors in proofs? . HERTEEe
A ¢ by zero is an example of a(n) in
reasoning.
* A false or can lead to
- e

easoning; that is, “provi ng” something that you began by assuming.
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MULTIPLE CHOICE

1. Which conjecture about the product of three odd integers seems most reasonable?

A. Tt will be an even integer. C. It will be negarive.

B. It will be an odd integer. D. ltis not possible to make a conjecture.

2. Which conjecture abour the interior angles in a hexagon seems most reasonable?

A. Their sum is always 180°. C. Their sum is always 720°.
B. Their sum is always 360°., D. It is not possible to make a
conjecture.
3. Rainfeather noticed the following:
4 2 2 132 43
B Gi7re B g9510 22 _ sins and
7 11 13
172172 172 172 172172
2 - 2459, 22 15652, T2 13244

Which conjecture might Rainfeather make from this evidence? Is this
conjecture reasonable?

A. Any six-digit number composed of three repeating digits is divisible
by 7, 11, and 13; yes, this is reasonable.

B. Any six-digit number is divisible by 7, 11, and 13; no, this is nor reasonable.
C. Any odd number is divisible by 7, 11, and 13; yes, this is reasonable.
D. It is not possible to make a conjecture.

4. Which figure is a counterexample to the conjecture "All polygons with eight
equal sides are regular ocragons™?

. A. Figure | only C. Figure I and Figure I1

B. Figure Il only D. neither Figure I nor Figure 11

Figure |
5. Which choice provides a counterexample to the conjecture “When you divide ;

one whole number by another whole number, the quotient will be greater than
the divisor and less than the dividend”?

14 6 14 6
A —=7b ==0. e ==0.

3 7 iEnot g 0.75 C 2 Vnsmm 75

6 14 14 6
B.- =0 —= . neither — = 7 nor = = 0.75

3 0.75 but not 3 7 D. neither > 7 nor 3 0.75 Figurel
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6. All kangaroos are marsupials. All marsupials are mammals. TRTEN RESPONSE

All mammals are warm-blooded. Ginger Jack is 2 kangaroo. 4
H ack? . Do you agree H . .
What can be deduced about Ginger Jack? o gree or disagree with the following conjectures? Justif, ‘o
H with a n:::.nquu_:_u_n if vcmazu_n - s? Justify your decisions

A. Ginger Jack is warm-blooded butis nota mammal. V
a) Thes s
¢ sum of a multiple of 5 and a multiple of 15 will be an odd numb
C er.

B. Ginger Jackisa mammal but is not warm-blooded.
C. Ginger Jack is warm-blooded and a mammal. ) 8
D. Ginger Jack is neither warm-blooded nor 2 mammal. ) The sum of a multiple of 5 and a muldple of 15 will be an even number.
7. What type of error, if any, occurs in the following deduction? f 12. Inthi s
who work do so from 9 a.m. 10 5 p.m., with one hour for lunch. . a:ms_.“ .“.*_____.“.H_c,““n.”__m M.”zm“”_ﬂwﬁ. What does the equation prove? Support your
: ample.

“All people
Bill works, so he works from 9 am. to 5 p-m”
x+ (x+ 1)+ (x+ 2 " ;

A. a false assumption of generalization x+2)+(x+3)+(x+4)++5)+ K+6)=7x+2l

A B. an eror in reasoning
i C. an crror in calculation
D. There is no erfor in the deduction. _

8. What type of error, if any, occurs in the following proof?

Suppose that: atb=c
Then: (4a — 3a) + (40— 3b) = (4e — 30) 13. Do you agree n.:. di i
Reorganize: 4a + 4b— 4e=3a+ 36— 3¢ with a no_”::o_.nz»:”m“n_.nmw“”m”_,an Dl R
Using distribution: 4a+b—0=3a+ b—0 “Forensic scientists will always n:m.nce.ow en o
§=3 person, because thar is what happens on aoﬂ_v“m_m,_mﬂmmn:nn to convict the guilty

A. an error in calculation C. a false assumption or generalization

B. an error in reasoning D. There is no error in the deduction.

NUMERICAL RESPONSE < 14, F
. Form a conclusion basey . Y
g. Determine the unknown term in each pattern. S——— wsm:o”“nmm .:M -”p mo.__ci_zm statements. Explain whether your
a) 3,12, 48,192, 13072, 12288 alals] |#] j> 17l i c“ il
" 8 4 9 5 8 als have pouches.” “Kangaroos a -
b) 12 500, 2500, ,100,20, 4 o T —1 % garoos are marsupials.
o 14,28,56, 112, , 448, 896 2 5
40. What number should go in cach square of this Sudoku puzzle? 8|6 7 Lw\\\\\ 15. Continue the sequence S, 14, 23, 32, 41, ... by tw
a) squarcA ___ o) squareC__ 516 1 \ your reasoning was inductive or mpg___ﬁ,qm.“qu.. y ewo cerms. Exphain whether
b) squareB___ d) square D _ 2 g
5 3 2
713 6
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